Manual Instruction

VESA200x200/200x400/400x400/400x800mm
@ 60kg/132lbs

o\ el F Lol e 2 o) 7

x6®

x4 x4
M8x90 M8x25 M6x30 M5x30 M4x30 D8
% x6®}x4®fx4®fx4@f x4®x4®®"4
P12x56 M8x40 M6x12 M5x12 M4x12

___min58mm-max410mm

x2

@10x90mm)|

e
g
! £
A i
ED @6x80mm
T
stud / ‘ 1/’
sensor N
W inches
I
2 3-Flat Back TV with M4/ 3-Curved Back TV with 3-Recessed Back TV with
M5 Machine Screws M4/M5 Machine Screws M4/M5 Machine Screws
T— I\ Gl T .
L— ’ 1 1 ,
1 1 |
i i T~
" L

|
—

N

3-Flat Back TV with M6/
M8 Machine Screws

T\C,F

3-Curved Back TV with
M6/M8 Machine Screws

1\ D.E
Li_l K

-\M

3-Recessed Back TV with
M6/M8 Machine Screws

._r_\ D,E

E\K
|_;_|

e

Tighten Safety Bolts




	Ò³Ãæ  1

